Physics 12 Unit 2 — Newton, Ff, Fg - Test

Name: Date:

1. A net force of 1200 N accelerates a bike and a rider at 3.6 m/sz, what is the mass of the
bike and rider together?
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2. Calculate the acceleration of the block in the diagram below.
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3. Calculate the acceleration of the block in the diagram below.
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4. Calculate the acceleration of the block in the diagram below.
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5. Find the thrust required to accelerate a 905 kg rocket up at 23.4 m/s?.
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6. A 30 kg mass sits on a flat table and is attached to a 18 kg mass hanging over the edge of
the table. Calculate the acceleration of the system and the tension in the cord.
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7. For the system drawn below find the acceleration of the system and the tension in the cord.
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